Industrial Revolution
Themes

· The Industrial Revolution began in England around 1801 with its impetus in the 1760’s and reached its high point in 1830, with the earliest possible ending date in 1850 in the textile industries. Although the Industrial Revolution spread to the continent, it was not until 1815 that the IndRev had any effect on the continent.

· England began the industrial revolution first for three reasons:

· England had an excellent system of navigable rivers and canals for transporting bulk goods. In addition, there were very few tariffs.

· England had an excellent banking system for obtaining credit. IN addition, the agriculture was very productive so the peasants had more income to spend on consumer goods.

· England had a stable govt and a large number of landless peasants to work in factories.

· The IndRev first took off amongst the textile industry due to it being the predominant cottage industry and inventions such as the spinning jenny and the water frame mechanizing the system and allowing it to be transferred to urban settings.
· Railroads allowed bulk goods to be transported quickly and cheaply, forcing many of the participants of the Cottage industry into poverty due to competition from the cities.

· Industrialization in Continental Europe was fastest in Belgium due to large coal and iron reserves. Central Europe then followed, with Eastern and Southern Europe the last. Most countries had experienced an Industrial Revolution with the exception of France which had a steady trend.
· In other parts of the world such as China and India, their industrial power diminished as Europe was trying to exploit the resources, not refine them. As such they at times actively discouraged industries attempting to refine products or produce their own which would reduce their reliance on Europe.
· The Industrial Revolution in Europe did not take off until later for a few reasons:

· Building a modern industry required a large capital outset which was not common in Europe due the Napoleonic wars. The Napoleonic wars also resulted in decreased communication between Britain and the continent hindering the spread of ideas.
· It was difficult to establish the industries after the Napoleonic Wars because British goods were better than native products. In addition British technology had developed to a point where it required skilled technicians to work it. 
· Because modern industries required large deposits of iron and coal, they needed the mines to provide the ore and railroads to transport it both of which were costly.

· Continental Europe was able to catch up to England after 1815 for a few reasons:

· There was already a well developed putting out system that could easily be adapted.

· Industrialists did not need to develop their own technologies, they could borrow British versions.

· Many European states such as France and Prussia had strong central govts able to fashion policies to benefit their industries.

· Many British entrepreneurs left the country illegally for Europe where they could set themselves up as independent industrialists. Britian had made it illegal for artisans or technicians until 1825. The two most famous were John Cockerill in Belgium and textiles and Fritz Harkort in Germany with steam.
· Governments also sponsored the building of railroads either through state control of them or providing massive incentives to companies to build railroads. The Dutch governments sponsored RR’s unite the newly formed country. 

· Banks became more influential with the idea of limited liability where a stockholder could lose only their initial investment and not be assessed for any addition stock. This lead more people to invest in banks as their investments would be protected. This was a Dutch idea that emerged in the 1830’s.
· The idea of social class became more visable as there was greater social interaction.

· Many industrialists came from marginalized ethnic or religious group such as the Quakers or Scots because of a strong sense of community that allowed the initial investment to be paid. These new industrialists grew conscious of their new social class and the gap between them and their workers.
· The living conditions of the workers early in the IndRev was often worse than in the villages but around 1830 the purchasing power of the workers had increased by roughly 50% since 1770. However the poor living conditions early in the IndRev was offset by the fact Britian was at war with France which resulted in a already reduced standard of living.
· Early in the IndRev (1770-1790) working conditions were very poor in factories and many of the factories resembled poorhouses which were prisons for the completely destitute or orphans. Orphans were often badly mistreated and overworked
· Working conditions improved in the 1800 with the use of pauper (poor) apprentices being forbidden by Parliament in 1802 and by transferring factories to cities where steam power could be used instead of the country where there was water power.
· Family units were preserved as often the head of the family would negotiate with the factory owner to get them all employed. This was most common in the textile industry but was also used in the mines. However, parents were generally interested in getting their children working as soon as possible so more money could be earned, the family had to work together though. This practice was countered by numerous reformers and was partly ended with the Factory Act of 1833.
· Ethnic villages started to develop (like China town in San Fransisco) because people from different ethnicities would try and find work with other people of their ethnicities. Many of the ethnicities that traveled like this were marginalized at home, like the Irish.
· Many artisans still worked in the traditional way even into the 1850’s because the large factories only made bulk products. When the artisans were forced to reorganize around the 1790’s strikes started to develop. This lead Parliament to pass the Combination Acts in 1799 which outlawed strikes and unions. Parliament also repealed apprenticeship laws which angered artisans as their profession was being flooded by workers who managers were sending in to reduce wages.
· Despite the Combination Acts strikes still occurred and in 1824 parliament repealed them. The first attempt at forming a large scale union, the Grand National Consolidated Trades Union was pioneered by Robert Owens who had protested against poor working conditions failed and was replaced by more specific unions that sought both economic benefits and social change, such as the right to vote.
